AH#HERE
(— 38 B AR

R2E -1EB23325 % #HKEEISE

(BT /Mg HhA)

¥ E i % £ 3,770,000 (Hi1k) 1BARBYIET
BBl PR 2 AN fff A% 3,290,000
SN LR 1.0000
] 3,290,000
B OE % B i % £ 3,290,000 (Fi1k) 1BARBYVIET
% fl &= 87.5% A E= AL/ T MK
Bifi: [
AHLEES Z1H % =
1 (B)ABITHE 3,300,000
2 (A) LBt EH 3,300,000 [KCI=&YiRTE
3 AREHEHE 3,310,000
4 ERBEERE T AR () 3,320,000
5 () BRI THE 3,390,000
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20

EESEC1004 010185 HEEMEL-SEAREE L DBUAKRBHEETHS.

AFL(FAFL) BE - =15

247 B308CK) FHi11E15%

ARFF 20 202&58=E




